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Travel Multiplication

Solve the following word problems.

A travel agency has 123 packages for a trip to
Paris. Each package costs $45. How much will all
the packages cost?

A family is planning a road trip. They estimate that
they will drive 325 miles each day for 56 days. How
many miles will they drive in total?

A bus can carry 134 passengers. If the bus needs
to transport 23 school groups, and each group has
the same number of students, how many students
can the bus transport?

A plane has 256 seats. If each seat costs $78, how
much will all the seats cost?

A travel agency offers 145 packages for a trip to
Hawaii. Each package costs $89. How much will all
the packages cost?

A cruise ship has 350 cabins. Each cabin can
accommodate 48 guests. How many guests in total
can the cruise ship accommodate?

A train has 210 compartments. Each compartment
can hold 34 people. How many people in total can
the train hold?

A tour guide has 132 maps. If each map costs $12,
how much will all the maps cost?
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